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01 =2ZWoib] 8,300 5,000 3,300
OFnEstEd3a =R 8,300
SHMNJAEH S ME2HE 1,950,000 0 1,950,000
= 1,500,000
== 450,000
403 XXISHHSA20|H 1,950,000 0 1,950,000
= 1,500,000
& 450,000
01 XXESHMA2EEX 1,950,000 0 1,950,000
O MANSEHH S HE2ZAHE 1,950,000
= 1,500,000
o= 450,000
MEANEEEELFH| 2,189,700 1,995,200 194,500
= 1,120,000
= 1,069,700
HEAMNEEZ=HH| 1,680,000 1,488,000 192,000
= 1,120,000
= 560,000
403 XXISHHSA20|H 1,680,000 1,488,000 192,000
= 1,120,000
= 560,000
01 XAXESHMAESEE 1,680,000 1,488,000 192,000




A 250D
I 2ol MLRE (2L 2T /2800=)
Tl MSEANEBEEZST (9 &
- . el
SN B ERA(SA) - MRAY - BES Aoy O Ak 04 e
OdSAZEEEZZH ALY 1,680,000
= 1,120,000
LS 560,000
HEMEE+HBIAE 300,000 300,000 0
403 XNASHMSXUH=0lH 300,000 300,000 0
01 AUXEMA2Ex 300,000 300,000 0
O SAHZE=EHIALEY 300,000
HSAEUSE S 200,000 200,000 0
403 MAHHMSUH=0lH 200,000 200,000 0
01 AXEHMA2E X 200,000 200,000 0
OESAELSES 200,000
HSAEEEE+HH=d 9,700 7,200 2,500
201 Ler2gy 1,000 1,000 0
01 Ars2telbl 1,000 1,000 0
eyl 1,000
202 01H 8,700 6,200 2,500
01 =LHOIbI 8,700 6,200 2,500
O SAMEEEE+ZHIFA0H 8,700
SIS X E 504,200 429,200 75,000
sHA=SESAsKH 100,000 100,000 0
308 XXEHHMSOIH 100,000 100,000 0
01 AXNHMBAdEXLS 100,000 100,000 0
OasHU=dsAE 100,000
B HE=Y 390,000 315,000 75,000
307 22rold 365,000 315,000 50,000
02 UANBHExX 295,000 255,000 40,000
O sus & &I 90,000
LIS Off Sk il & Al EHOH & O = X & 20,000
DH3et=dS=edE5s03 5 85,000
Oes-s03dadM3d3 X 30,000
IESE=oiPNFalgesh—g-=l PN 40,000
LOetAEte &3 X2 30,000
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SM: 230D
By 250 SMTE(SHURT /250 2)
¢ SIASIAME XA CER:E
SA - H O (BIH) - MSAY - Ba S 0f Ao Soe HRZ2
04 OI2tSHAIE X 70,000 60,000 10,000
CH3S BA=EES0 S OHE I = 40,000
COIRI403 A= S M0 AN & & 3| H = 30,000
308 AXIEHXMSOIA 25,000 0 25,000
01 AXSHHI&AELEZ 25,000 0 25,000
Jossus3=20tg29 25,000
23 BIAIE =& 14,200 14,200 0
201 829y 3,000 3,000 0
01 AtR22id] 3,000 3,000 0
OgdteZH| 3,000
202 O] 11,200 11,200 0
01 =2ZUWdHI 11,200 11,200 0
OS2 SSALE X & F &0 1| 11,200
Sl sMBERNE (2L LY /2512 22 2Bt 8,980,500 1,285,200 7,695,300
= 200,000
g 5,154,000
= 3,626,500
=g A ZE =& 8,980,500 285,200 8,695,300
= 200,000
g 5,154,000
== 3,626,500
el e Sl ER=1g== E =P 1,630,000 170,000 1,460,000
307 Q20| A 180,000 170,000 10,000
02 0I2tZAE X 170,000 70,000 100,000
OM73ga2eI = AILIZI 222 X N X 70,000
OIS MESUCIXNCI2HAEIZ 50,000
COOMb3 A= EN B ORI 2H A E A 50,000
04 OIZtSHAIE X 10,000 100,000 90,000
(22 = A SN 2 3 & OH Z 10,000
308 AXIEHXMSOIA 1,250,000 0 1,250,000
01 AXNSHHIABEXTZ 1,250,000 0 1,250,000
OFAEIIHXCE20MH AR 100,000
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22X S3u=
HH: 2SN (SUTR /S UBB YD)
Chel: 2slEAZHET (cHel:® @
S BB S (BIH) - M A Abol e HRZ2
01 XXSHA=2EX 1,500,000 1,500,000
(JE=232H=ASMHAHE 1,500,000
g 1,000,000
< 500,000
EIdYAYEIRES 4,659,000 4,659,000
rag 3,579,000
== 1,080,000
403 XNXESHHSA=20IN 4,659,000 4,659,000
g 3,579,000
= 1,080,000
01 XXSHMA=2EX 4,659,000 4,659,000
O23gMaase2xyd 4,659,000
g 3,579,000
== 1,080,000
NESSRHUXUZIUAMAIAILSE L 747,500 747,500
g 575,000
= 172,500
403 XXM SA201H 747,500 747,500
g 575,000
= 172,500
01 XXSHHMA=2EX 747,500 747,500
(NESSZHXUSBEAA 747,500
g 575,000
== 172,500
M=20I0EHeAE =S 0 = 400,000 400,000
= 200,000
= 200,000
308 XXIEHXMSOIA 400,000 400,000
= 200,000
== 200,000
01 AXSHHIABEITZ 400,000 400,000
CF=20H0HE OfeA = 043 H &) 400,000
= 200,000
T 200,000
SAALI (S0 = AL D) (DIEH/ DIE 118,649 AN50,878
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2N 230=1
M HHRAZH| (230 = D) (J1EHDIEH
Chol: olst e oyl Crol: 72l
SA - Ao (F) - NEAY - Ba S Ao S H RS2
0l &4 08
ol 2HH| 54,814 108,192 253,378
ol 2ZH| 54,814 108,192 253,378
101 el | 15,814 15,792 22
09 SIIH <k 15,814 15,792 22
s 38,8503 *1H +x2552 9,907
&= 9,906,750 %1/3 3,303
=54 38,8503 » 1% x52 2,021
O x4 38,8503 *1H 152 583
203 HRF&H 19,200 60,000 240,800
01 JI22GYRFLY| 6,600 6,000 600
O=% 6,600
04 EN2IYRFLEYI 12,600 24,000 A 11,400
[J30Z Ol ot 350,000& *3M 2 A *12& 12,600
204 XA 19,800 32,400 A 12,600
01 A¥SHSHAH| 19,800 32,400 A 12,600
O=% 600,000& 1H =12& 7,200
Ons 350,000 «3H 122 12,600
Jl=3&Hl 63,835 61,335 2,500
Jl=3| 63,835 61,335 2,500
201 L3 53,835 51,335 2,500
01 AtR2teltl 45,335 42,835 2,500
et~ 32,835
ORM2ZYet=EH| 32,835
==l 12,500
O2ll=g =Sl 12,500
02 ==29gtl 8,500 8,500 0
O332=2Z Al 1,000
O33x=LHAMS 1,000
DA & &EHIS Xl 7,500
OANEHEBISXHI S 7,500
202 O4Hl 10,000 10,000 0
01 3LUAbI 10,000 10,000 0
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